p(r/'R)

Ratio to CDF

10

107t

0.5

1960 GeV ppbar Jets
= : | : | : | | : | : | : | : | | : =
- Differential jet shapep (277 < p, < 304) 7]
| m CDF |

--©- Pythia 6.428 390
| --8-- Pythia 6.428 391 _
— - %- Pythia 6.428 392 -
Z o Pythia 6.428 396 _
| --¥% Pythia 6.428 397 ]

--¥--\Pythia 6.428 398
o 2 i

Ny
1\:\:’\\\.

-
-
~ -

mcplots.cern.ch [arXiv:1306.3436]

Rivet 3.1.10, = 2.9M events

./‘
o=
-~ - == s S =
P gIPrL, LFN
P .- =
S = P
3
- g
= L= .z
el -
=z

55

N

0.5



	Contents
	Page 1


